e

A) 2 + 2

> x2+C

RN In|x|+C

©) 56+ 2 4C
X

(D) 5¢** +Mn|x|+C

®) 10 -+ +C
X

‘Y Gxio (
e C9!‘-Qe. ‘¢

Z

Gyib

x| +¢






3.

Iz(x3+5)6cix=
(A) (x +5  +C
(B) ’x’( +5x)
(©) (3 )+C

(D) —x (x3 +5) +C

@ le(x +5) +C



x |0 [25]30 |50

flx) |4 |6 |8 |12

4. The values of a continuous function f for selected values of x are given in the table above. What is the value of
50
the left Riemann sum approximation to -[o f(x)dx using the subintervals [0, 25], [25, 30], and [30, 50]?

(B) 360 (C) 380 (D) 390 (E) 430

q\“ 6\ 9_" (BN
I T
O asS %o $o0

¢ (29) + C(3) 4 2 (2a)
OO +30+ 60O

<36



5. Let f be the function defined above, where ¢ is a constant. For what value of c, if any, is f continuous
atx=27

(A) 2 ©) 9 D) 4= -4 (E) There is no such value of c.
Yrem ITx X223

{[X\: X 52

>
X 3Cx—13

4 nT = 4 4+2c -0
O = 9c -~y

=D



6. Which of the following is an antiderivative of 3sec’x + 2 ?

(A) 3tan x @ (C) 3sec x + 2x (D) sec’x +2x (E) 6sec®xtan x
3'[;0-31 + X

S S.Oo-(&d-)( = 'éav\.\(



7. Ifd g is a differentiable function of x, what is the derivative
(A) 2g(x) (B) 2g’(x) (©) 2xg’(x) @J (E) 2g(x)-4



g(x) is the solution to the

V(4-y) 1y

differential equation with the initial condition g(—2) = —1, then lim g(x) is

L/
dx

8. Shown above is a slope field for the differential equation

X=00

(E) 3

(B) -2

(A) —ee



9. I £(x) <(g)x +2)°, then the graph of f ior

(A)x<0 .‘

£'>0

(C) 2<x<0

p 4
(D) x<-2and x>0 (x.}}\ 20

(E) all real numbers

SO X>So



n _d__= hﬂ-
lO.Ifyenatx=-3—, di 6’ 5
] ' oL ® 2 L
@ R 2 wss 0
(,D
dy.

cosx
—= _ - gmxsmx + cosX
x ==




